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Example 11.3: Self-loops and parallel edges.

Suppose that we construct a graph to model each of the following phenomena. In which settings do

self-loops or parallel edges make sense?

1 A social network: nodes correspond to people; (undirected) edges represent friendships.

2 The web: nodes correspond to web pages; (directed) edges represent links.

3 The flight network for a commercial airline: nodes correspond to airports; (directed) edges denote
flights scheduled by the airline in the next month.

4 The email network at a college: nodes correspond to students; there is a (directed) edge (u, v) if u has

sent at least one email to v within the last year.
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